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Introduction

You will spend a weekend with your friends in the Costa Brava and you want to bring some music in a pen
drive of certain gigabytes (GB). Considering that a song is approximately 11 megabytes (MB). You need to
calculate the number of songs that fit on your pen drive.

Notice that there are 1024 MB in 1 GB.

Input

The input will be a single integer number indicating the capacity of the drive in GB.
1

Output

Print out the number of songs that will fit on the specified drive:
93 songs






